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  ID:	
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   NAME:	
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  Fall	
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Final	
  

	
  
60	
  M/C	
  Questions;	
  Optional	
  Long	
  Answers	
  Total	
  points	
  =	
  40.	
  
	
  
For	
  all	
  of	
  these	
  problems,	
  assume	
  that	
  air	
  resistance	
  is	
  not	
  important	
  unless	
  
you	
  are	
  told	
  otherwise.	
  	
  
	
  
Formulas	
  you	
  may	
  or	
  may	
  not	
  need.	
  
x	
  =	
  x0	
  +	
  vt	
  
v	
  =	
  v0	
  +at	
  
x	
  =	
  x0	
  +	
  v0t	
  +	
  ½	
  at2	
  
v	
  =	
  	
  (Δx	
  /	
  Δt)	
  =	
  
	
  	
  	
  	
  	
  	
  	
  	
  (xf-­‐	
  x0)/ (	
  tf	
  -­‐	
  t0)	
  
a	
  =	
  	
  (Δv	
  /	
  Δt)	
  =	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  (vf-­‐	
  v0)/ (	
  tf	
  -­‐	
  t0)	
  
Ffriction	
  =	
  0.3	
  x	
  weight	
  	
  
	
  	
  	
  	
  	
  (moving	
  obj,	
  eg	
  a	
  book	
  on	
  a	
  table)	
  
Fnet	
  =	
  m	
  a	
  
Fgravity	
  =	
  m	
  g	
  
Fspring	
  =	
  -­‐kx	
  
	
  

KE	
  =	
  ½	
  m	
  v2	
   	
  

GPE	
  =	
  m	
  g	
  h	
   	
  

W	
  =	
  	
  fparallel	
  	
  d	
  

Wext	
  -­‐	
  ⏐Wfriction⏐	
  =	
  ΔPE	
  +	
  ΔKE	
  

Power	
  =	
  E	
  /	
  t	
  

	
  

PV	
  	
  +	
  	
  ½	
  mv2	
  	
  +	
  	
  mgh	
  	
  =	
  	
  Etotal	
  

P	
  	
  +	
  	
  ½	
  ρv2	
  	
  +	
  	
  ρgh	
  	
  =	
  	
  Etotal/V	
  	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  =	
  Etotal	
  per	
  unit	
  volume	
  	
  

v	
  =	
  λ	
  f	
  	
  	
    (light:	
  c = λ	
  f	
  	
  	
  )  

f	
  =	
  1/T 
	
  

Fc	
  =	
  (k	
  qA	
  qB)	
  /	
  r
2	
  

	
  

EPE	
  =	
  q	
  ΔV	
  

Wext-­‐⏐Wfr⏐=	
  ΔGPE	
  +	
  ΔKE	
  +	
  ΔEPE	
  

	
  ΔV	
  =	
  IR	
  	
  	
  

P	
  	
  	
  =	
  	
  	
  I	
  ΔV	
  	
  	
  =	
  	
  	
  I2	
  R	
  	
  	
  =	
  	
  	
  Δ	
  V2	
  /	
  R	
  
	
   	
   	
   	
   	
  	
  

Power	
   =	
  e	
  	
  σ	
  	
  T4	
  	
  	
  a	
  
	
  

λpeak	
  	
  	
  =	
  constant	
  /	
  T	
  
	
  

	
  
Conversions	
  &	
  Constants	
  you	
  may	
  or	
  may	
  not	
  need:	
  
	
  	
  	
  	
  1	
  pound	
  =	
  4.45	
  N	
  	
  	
  	
  	
  	
  	
  	
  1	
  mph	
  =	
  0.447	
  m/s	
  	
  	
   g	
  =	
  9.8	
  m/s2	
  	
  (	
  but	
  you	
  can	
  use	
  10	
  m/s2	
  )	
  

	
  	
  	
  density	
  of	
  water	
  =	
  ρw	
  =	
  	
  m	
  /	
  V	
  =	
  1000	
  kg	
  /	
  m3	
  	
  	
  	
  	
  	
  Speed of light, c = 3 × 108m/s	
  

σ = 5.67 × 10 -8 J/(s m2 K4)          k = 8.99 × 109 Nm2/C2 
charge on an electron, e = 1.6 × 10-19 C        Mass of an electron, me = 9.11 × 10-31 kg 

	
   	
   	
   	
   	
   BUFF	
  	
  
Remember	
  to	
  write	
  your	
  name	
  on	
  your	
  answer	
  sheet.	
  	
  Write	
  the	
  color	
  on	
  your	
  M/C	
  
answer	
  sheet.	
  	
  	
  Return	
  both	
  the	
  answer	
  sheet	
  and	
  the	
  exam.	
  

	
  

	
  
Name____________________________	
  
	
  
	
  
Signature	
  ________________________	
   	
  


